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11
= 2 x P x A x sin ©® /2 = 61.451 KN
p= 0.75 Mpa (750 KN/ )
A= 0.0579 m?
12 Fs
S = 2xsinO/2 x<xL xfs = 59.091 KN
fs = pHXxXWy>x CcxX7TU 2 = 5.108 KN/m
M= 04
\Ve 16.0 KN/m?
He=(Hi+D/2)= 09358 m
1.3 Fn
n=2xcosO/2x<Lp>xfnx1/2 = 17.713 KN
fn=1/2x e'>x<y>x(h’-h’)>< = 50099 KN/m
Ce' = tan’(45 + p/2)
Ce'= 24639
= 25
h,= 0.8m
h,=  1.0716m
R= 0.50
Lp=  5.00m
14
5 ' 7.13 Im
6 L 8.18 |m

8.18 [m




2.1
= 2%<P><Axsin©/2
p: (KN/m?)
A (m?)
2.2 Fs
S = 2xsinB/2>=<Lxfs
fs:
fs= pu><y>x cxTT 2
M
\V4& (KN/m?)
Hc: H,+D/2 (m)
2.3 Fn

n=2>cosO/2xLp>x<f>=1/2
fn:

fn=1/2>< e'><y>(h?- h’)>=

Ce"
Ce' = tan’(45 + /2)
P ()
1 (cm)
2 (cm)
Lp:
L Lp



24

Ll

Ll

Ll

Lp

Lp

n+ s Sf

Sf:

Sf p A sin©/2

Sin®/2 1 vy Hc 1T D,+1/4 cos©/2 Ce' vy (h,’-h’) R

Ll

Ll

SfpA

L

sin®/2 - 1/4 cos©/2 Lp Ce' vy (h,’-h») R

sin©/2 |1 y Hc 1T D,

05 04
0.4 03
03 0.2




